<& B-1> i RP2RUEER « MESUELRREE
1 R7T—UHM
% 8[m 9l 10
2R FErE21E12868(R) | FER22F11 A138(2)| FR23F11H26H(L)
= EWRTIONT1 - . . Bl AL IVT—Y
=5 Kk—IJL HwE MRt~ ﬁz*/'s{—-’j‘%w/‘ﬁ
HER S 22 23 20
] 10 12 9
Fi% 12 11 11
B BB 3 17 6
X B &R 4 5 14
7a_=p 13+ (FL1R) 1 0
NS 31 (ERZSMNIR) 22 16
" FhIL R 1 0 2
B TeExs i 0 1
SR 0 1 1
S5 2= 1 R il 267 5y 2765 29245
81 (FFiE) 1145y 14659 145%
1% (FFi) 153% 130% 147 %
1RE-YDEEER #9135 91559 w145
A 4 2 4
JEEN 1 2 2
BOR-5E 3 5 1
o P EES 2 3 1
BEAR =5 > = :

. WEI (SEE REHE 5K HO- UEEXIHEIR
gg% * 3)%?%1-%3551 RO LB
HIEERE 1,050 801 600
S 24 18 20

SMAH ;;%Q&Uﬁ‘ 1,500 700 1,500
& &t 2,574 1,519 2,120
2 BoREEH
_ £8[E F9[H] F10[E]
HA RS FR21412A38 | FR22F11A1MB | F22411H198
o (K)~6H(H) (K)~148(R) (1)~238 (K1)
= JI—RER - - . 5| FETEXIERE -
215 314051 — BEHEMRXIEtU4 B, CE?T?%
SR 64 44 63(54+EF49)
kR 3 35 8
X B 8 6 30
7 B 53 1 14(5+F9)
NI 56 34 56(47+E9)
¥ Fh3rch 2 1 3
* S dan 3 3 3
i 3 1 1
ASEHBFH) 1,500 900 700




HERPERGER « EXIEREE

AT — P
$£11m E12E £13E
#B8 E24%E11A17H(R) Tri25%E11816R(L) Erk26E11 238 (A)
218 BHHMRXIESEE AEMRXEtE2— #ETHREXIESE
= Kt—IL KE—IL KE—IL
HER# 25 21 21
7 10+3 10 9
Fi 11+2 11 12
Y 8 16 7
X f & 1 2 12
7 Zp 16 3 2
NI 25 18 17
o FAIL 0 1 2
BR TEmww 0 1 !
SiE 0 1 1
S e 315% 298%y 307
g1 (BFRE) 1609 143% 145
1% (BFRE) 1555 1555 162
1R Y=Y D;EEER 149 159 91559
A 5 3 5
JEE 2 2 2
BOR B 1 3 2
EERNE [ 2 1 2
=1 2 3 5
g%’“ﬁ W - D wemsy - mEeo|  mEmsma.amaa
HiEARE 620 A 750 A 649 A
ES - 40N 40N 50X
Shn A%k ;;%Q&Uﬁ‘ 1, 003A 1, 050 A 1, 500A
& &t 1, 643 A 1, 840 A 2, 199 A
BRETY
110 E12E £13E
#3P5 T4 11168 (£) ~ | FA25F11A158 (£) ~ | TR26F11A218 (%) ~
~ilH 188 (A) 178 (8) 238 (H)
a8 BRTRNXbIREE S—| BETFRXEEVS— BHRETMRXIESEE
= BRE IBERE - KeEE A-B-CERE
SN 408 504% 684
Y 0 43 8
h X Sl 5 3 50
il 35 4 10
A 39 43 62
***i *L\-l._LEJ 0 0 2
- %t i 2 4
SR OEER 0 1 0
ABEH (BB 6834 2, 3144 3, 2004




